NAME: Date: Grade:

(From Grade Calculation on last page)

Course:

. Written Exercise 10: &

Translate the foIIowing Greek text into correct English (92 answers)

0 TTadrog léyp(x\ysv 0 Av6povu<0) 0Tt omrog noMoqu scmouBaCs npog ™mv P(ounv eNOEV: O omocrokog
n@s?»nca feacOat omrovg Kol petadodvorn Het aOT@V TNV 1810V Yapav ToD spyou 10D &V i) Fakana LEYPL TOD
vuv £3e1 10 rov Homkov ev ) Fahotio uavaw 81(1 TOUG wsv&oStSaGKaloug ol £tpeyov KUplSUSW tov [olotdv
Kol uswcsrpswou 70 €00YYEMOV TOD Xpwrov &ML TOAL 0VTOL 01 GvOpOTOL sononéSaCov Ogvan € sounoug deonotag
&V TOG Falarucag EKKMO10C. €1 KOl aDTOL E1OV £lval £00TOVS S0DAOVC T0D XPIoTod, ovK Noav &v GANnOgio
cuylcowmvm EV TO suayysho)

rnv a)m@smv de Tod sn(xyyshou (mnyysMsv ononﬁmoag 0 Hom?»og EvOmov Tod Aaod kat €umev, O Incode O
Knplog £0TL KOl ADTOG ESWKEV EQVTOV VIEP TOV AUAPTIOV TUAV. 0UTN 1 AyYEAL0 OVK EGTIV KOTO 0vOp®OTOV, GAN
EpyeTaL amo Tob B0V ATOD.

< Parse the following words according to the appropriate model (56 answers):

0 ITadog (7 answers): Proper Name - Nom ( ) - M-S - ITadrog, 0 - Paul
gypayev (8 answers): 1 Aor ( )-Act-Ind-3-S-ypagn -
10 "~ Avdpovike/ (7 answers): Proper Name - Dat ( ) - M-S -7 Avdpovikog, 0 - to Andronicus

ot (4 answers): subordinate conjunction introducing a conjunctory  substantival
dependent clause -

avtog (10 answers): Pers Pron - Nom (Subj) - M - S - avtog, -1, -0 - he
noAhaxic (1 answer): Adverb of time - often, many times
gomovdale (8 answers): (Iterative) - Act - Ind - 3 - S - orovdalm - he had tried, endeavored

npog v Pounv (7 answers): - Acc (Place/Measure) - F - S -"Poun, 1 - to Rome
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eMO<v (8 answers): 2 Aor (Const) - Act - Infin (S: ) - €pyopon - to come
0 anootorog (7 answers): 2 - Nom (Subj) - M - S - anoctorog, 0 - the apostle

noeinoa (8 answers): 1 Aor (Const) - Act - Ind - 3 - S - 6o -

0cacbar (8 answers): Pres (Desc) - - Infin (S: Obj) - Bedopon - to see, visit
avtoug (10 answers): Pers Pron - Acc ( )-M - P - avtog, -n, -0 -
ka1 (1 answer): coordinate conjunction connecting two infinitive phrases as equal elements - and

petadodvar (8 answers): 2 Aor ( ) - Act - (S: Obj) - - to share

pet’ avtdv (10 answers): Pers Pron - Gen ( ) - M - P - awtog, -n, -0 - with them

mv 18wy (10 answers): Poss Adj (Attrib) - Acc - F - S -"810g, 10, -ov -

yapav (7 answers): 1 - Acc (Dir Obj) - F - S - yapa, 1 - his joy
100 £pyov (8 answers): 2 - Gen (Desc/Ref) - N - S - £pyov, 10 - about/over his work

00 &v 1 Tolate/(7 answers): Geographical Name - Loc (Place) - F - S - Tolatie, 0

peypt Tod vov (1 answer): Adverb of time - until now

£del: Impers Verb with Durative Imperfect - 8¢5 - it had been necessary

tov [Tadrov (7 answers): Proper Name - Acc ( )- M - S - Tladrog, o - Paul

ev ) Takatio/ (7 answers): Geographical Name - Loc (Place) - F - S - T'olatio, 1 - in Galatia
70...pevew (8 answers): Pres (Desc) - Act - Infin (___: ) - péve - to remain

310 Tovg yevdodidackarovg (7 answers): 2 - Acc ( ) - M - P - yevdodidackarog, 0 - because of
the false teachers

ot (13 answers): Rel Pron - Nom (Subj) - M - P - o¢, 7, 0 - introducing Relative Adjectival dependent
clause - who

gtpeyov (8 answers): (Desc/Dur) - Act - Ind - 3 - P - tpeym - they were/had been trying
kopievety (8 answers): Pres (Desc) - Act - Infin (S: ) - kupevw - to rule over, lord it over

v Tolat@v (7 answers): Geographical Name - Gen ( ) - M - P - Tahatng, 0 - over the
Galatians

kat; (1 answer): coordinate conjunction linking two infinitival phrases - and
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uetactpeyat (8 answers): 1 Aor (Const) - Act - Infin (S: Obj) - - to alter, change

70 gvayyelov (7 answers): 2 - (Dir Obj) - N - S - evayyghov, 10 - the Gospel
100 Xpiotod (7 answers): 2 - Gen (Poss/Ref) - M - - Xpiotog, 0 - of/about Christ

em woAv;: Adverbial temporal idiom - for some time

ovtot (9 answers): Pron - Nom - M - P - ovtog, abtn, Todto -

ot avhpomot (7 answers): 2 - Nom ( ) - M - P - avbpwmog, 0 - these men

gomovdalov (8 answers): Imperf ( ) - Act - Ind - 3 - P - omovdalw - they had been
endeavoring

Ocivan (8 answers): 2 Aor (Const) - Act - Infin (S: Obj) - - to place, make

gavtovg (10 answers): Pron - Acc (Dir Obj) - M - P - gavtod, ¢, -0b - themselves

deomotoag (7 answers): 1 - Acc ( ) - M - P - 8eonotng, 6 - masters, rulers

to¢ Fodatikog (9 answers): Geog Adj ( ) - Loc - M - P - Tahatikog, -1, -0v - among the

Galatian (churches)
gv...exkhnotog (7 answers): 1 - Loc ( ) - F - P - ékkinoa, 1 - among the Galatian churches

el kot (4 answers): subordinate conjunction introducing conjunctory adverbial (logical)
dependent clause -

avtot (10 answers): Pers Pron - Nom (Subj) - M - P - avtog, -n, -0 - they

guov (8 answers): 2 Aor ( )-Act-Ind - 3 - P - Aeyw - they say, claim to

gwvar (7 answers): Pres (Desc) - Infin (S: Obj) - gyl - to be, that they are

gavtovg (10 answers): Reflex Pron - Acc ( ) - M - P - gavtod, ¢, -00 - they

dovAovg (7 answers): 2 - Acc ( ) - M - P - 8odhog, 0 - servants

100 Xpiotod (7 answers): 2 - Gen (Poss) - M - S - Xpiotog, 0 - of Christ

ovk noav (7 answers): Imperf (Desc) - Ind - 3 - P - gyt - they were not

gv aAnBew/ (7 answers): 1 - Ins (Manner) - F - S - aAnfeuo, 1 - in truth, actually, genuinely
ovykowvwvol (7 answers): 2 - Nom ( ) - M - P - cuykowvavog, 0 - partners, participants

&v 1 evayyelio/ (answers): 2 - Loc (Sphere) - N - S - gdayyghov, 10 - in the Gospel
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mv aAndeiav (7 answers): 1 - Acc ( ) - F - S - aAnbewa, 1 - the truth

d¢e;: postpositive coordinate introducing a somewhat contrastive independent clause - now, but,
and

100 evayyehov (7 answers): 2 - Gen (Desc)/Abla (Source) - N - S - gbayyghiov, 10 - of/from the
gospel

annyyeldev (8 answers): (Desc/Incep) - Act - Ind - 3 - S - dnayyelo - he was/began to
proclaim

onovdaiwg (1 answer): adverb of degree -

0 [ladrog (7 answers): Proper Name - Nom (Subj) - M - S - TTadAog, 0 - Paul

gvomiov tob Aood (7 answers): 2 - Gen ( )-M-S-Aoog, 0 -

ko (1 answer): coordinate conjunction connecting two independent clauses - and

guev (8 answers): 2 Aor (Const) - Act - Ind - 3 - S - Agyo -

‘O "Incodg (7 answers): Proper Name - Nom (Subj) - M - S -’ Incovg, 0 - Jesus

0 k0p10g (7 answers): 2 - Nom ( )- M-S - xvpiog, 0 - Lord

goti; (7 answers): Pres (Desc) - Ind -3 - S - eyuw- he is

ko (1 answer): coordinate conjunction connecting two independent clauses - and

avtog (10 answers): Pers Pron - Nom (Subj) - M - S - avtog, -, -0 - he

£dwkev (8 answers): 1 Aor (Const) - Act-Ind-3-S - - he gave
gavtov (10 answers): Reflex Pron - Acc ( ) - M-S - gawtod, ¢, -0D - himself
orep OV apaptidv (7 answers): 1 - Gen ( ) - F - P - apaptio, 1 - for our sins

nuav (7 answers): Pers Pron - Gen (Poss) - P - &yo - our

avtn (10 answers): Demon Pron - Nom - F - S - obtog, abtn, todto - this

n ayyeha (7 answers): 1 - Nom (Subj) - F - S - ayye)io, 1 - this message

ovk £otv (7 answers): Pres (Desc) - Ind - 3 - S - equw - it is not

kota avOpwrov (7 answers): 2 - Acc (Ref) - M - S - avBpwnog, 6 - according to man, of human origin

arX (1 answer): coordinate conjunction introducing strongly contrastive independent clause - but
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gpyeton (8 answers): Pres (Desc) - Dep - Ind - 3 - S - £pyopar - it comes
ano tod O=od (7 answers): 2 - Abla (Source) - M - S - 0goc, 0 - from God

avtov (10 answers): Pron - Abla - M - S - avtog, -1, -0 - himself

3Decline the following nouns and noun derivatives according to the appropriate model (42
answers):

The singular and plural forms of 1310, -0, -0v (24 answers):

Singular: Masculine Feminine Neuter
Nom

Gen/Abl

Dat/Ins/Loc

Acc

Plural:

Nom

Gen/Abl

Dat/Ins/Loc

Acc

Third Person Reflexive Pronoun govtod, -iig, -od (18 answers):

Singular (himself, herself, itself):

Nom e e e
Gen/Abla

Dat/Ins/Loc

Acc

Plural (themselves):

Nom e e s
Gen/Abla

Dat/Ins/Loc

Acc
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2ABlock diagram the above text according to the guidelines (10 answers):

(A) 0 Havlog eypayev 1@ Avépovike
TToAAGKIG
pog TV Pounv
OTL avTOC...£6movdalE. . .EADEV:

(B) 0 arootodoc n0éinca Oéachor avtovg
Kt
ueradovvar..tnv 1Siav yopayv
UET QUTAV 10D £pyov
10D &v 1 TodoTig.
LEYPL TOD VOV gv 1 Todotio
M) &oe1 1o tov IlavAov...uéverv

310 TG YeLdoBUoKAAOVG
Ol £Tpeyov Kupievely TV Iolatdv
KoL
LETOOTPEYOL TO EVOLYYEALOV
00 Xp1oTOoD.
. £TL TOAD
(A) ovtot o1 avlpwmrol Eomovdalov Ocivar EavTovg
Seomorag
v tog Fodatikag EkkAnotac.

€1 KOl 00TOL EUTOV
£1VaL EAVTOVG d0VAOLG TOD XpioTod,

(E) ovknoav . . . GULYKOW®VOL
gV OANOEI &V TQ £0OYYEN®.

de
(2) mv aAnbsiav tob evayysliov annyyeAlev...o Ilaviog
GMOVSAMG
EVOTIOV T0D A00D
. Kalt
4] simey,
) ‘O "Inocodg 0 KVpLog £0T1
Kot
2) aUTOG ESWKEV EQVTOV
VIEP TAV QUAPTIAV NUAOV.
3) autn 1 ayyeAio ovk EoTiv
Koo avOpmmov,
AAX
@ - EpyeTatt

amo 100 00D 0TOD.
Questions to answer from the Block Diagram:

1. The connector between statements (A) and (B) is an instance of asyndeton.

a) True b) False
2.  The oui-clause in statement (A) is the of the verb gypayoev.
a) Indirect Object b) Direct Object c) adverbial modifier
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The protasis in statement (E) is

a) a doubtful concessive dependent clause.
b) first class conditional dependent clause.
c) logical concessive dependent clause.

Explain the implied assumption in the protasis of statement (E), as well as its connection
to the apodosis.

Which of the adverbial modifiers in statement (Z) expresses location?
a) omovdalwg b) &vomiov 10D Aaod

The coordinate conjunction de; between statements (E) and (2)

a) links the two statements as continuous with no relationship between them.
b) sets up statement (Z) as contrastive to statement (E).

c) introduces statement (Z) as the basis for statement (E).

Explain the inner relationships among statements (1) - (4), especially noting the
connectors kot and dAX (4 answer value).

********************GRADE CALCULATION********************

Number of Errors . Total Pts. 100.00
Missed accents and breathing marks
= 1/4 error per word Minus Pts.
Times 0.50 Missed
Total Pts. Missed . Grade

(Please record grade at top of page 1)
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